A

PAGE 1 OF 8

B. FOOTBOARD 1 PC

D. SLAT ROLL 1 SET

BED HARDWARE BOX

E. CENTER SLAT SUPPORT 1PC
F. MATTRESS SPACER 2PCS

G. SUPPORT LEG 4PCS

FULLY ASSEMBLED

BOX #2
BOX #3:

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

QUANTITY | C. SIDE RAIL 2 PCS

8PCS
8PCS
1PC
8PCS
1PC
12 pcs
12 pcs
12 pcs

Not provided

-
S
—
[—
o
(S

CS
RS

WANMNNNNNRNNN_ =" )
AN
e\ | |

N
3+
X
(@)
m
=
[m]
E —
TR Rk PKv Z E \W/ =
b4 o S £ © =
IIIIII [ O~ w Q hy Ay
W a3 |=t % gle| <
= T o g > Ky o o
X|18|loE|2 2|9 |5 | ¥ | = |4 |t
> Na) - = ] X T I
& wlE([<e|[LTD]| Z 4 z = ) 0
a glglugs|aoz]| £ o w = < <
~— Q X |w o on — Q W W
A 7] HnX DR — (a1}
) S|u|Fe|gUw 0 a) < > X =
4 =3 I == (@] G O <
< [a] 6 (xR O | e} T
] 4 = < = S TN
< I = <
@ < F= A
* 3 T q
Ava \ y,
m < 2 - o~ ™ < T) © ~ ©




N,
D>

-

2
w

DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

STEP #1:

STEP #2:

PAGE 2 OF 8




DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

AN

\\I/I.Ia

STEP #3:
STEP #4

PAGE 3 OF 8




N,
D>

-
4
@
=
(18
)
H 0
Z
00
Z =
X O
=)
-
Ok
=z 2
WLI
S 2
=<
L
W ¢n
ms
OA
a

STEP #5:

STEP #6:

PAGE 4 OF 8

AR
OHDHN




DORSEY WOVEN CAL KING BED

ASSEMBLY INSTRUCTIONS

T &
A

A
ma%&wammﬁﬁmWIlqhdt N—

STEP #7:

PAGE 5 OF 8

\)

4

\
»NQV\N 2 ‘M \sv \sv \I

STEP #8:




DORSEY WOVEN CAL KING BED

ASSEMBLY INSTRUCTIONS

A
(TITITS7

STEP #9:

STEP #10:

S/ p

\\\\\\\\\\
L () s ) e () s ) e

LA

4

PAGE 6 OF 8




(1 4
>
-
4
@
=
(18
)
H 0
Z
00
Z =
Y O
>
I
Ok
=z 2
WLI
S 2
=<
1T
W ¢n
%S
OA
]

717/

ASSEMBLY COMPLETE.

P P P P P

7 =
(5

PAGE 7 OF 8

. REMOVE BOX SPRING AND MATTRESS BEFORE MOVING
YOUR BED.

. LIFT YOUR BED WHEN MOVING IT.

DRAGGING CAN DAMAGE THE LEG SUPPORT.

. READJUST LEVELERS AFTER MOVING YOUR BED.

MAINTENANCE INSTRUCTION:

. POSITION THE BED IN YOUR SPACE AND LOCATE

. TURN THE LEVELER COUNTER- CLOCKWISE TO EXTEND

THE LEVELER AND CLOCKWISE TO RETRACT IT.

. ADJUST EACH LEVELER UNTIL EACH SUPPORT LEG IS APPLYING
EQUAL, UPWARD PRESSURE ON THE BED SUPPORT SLAT.

INSTRUCTIONS FOR ADJUSTING LEVELER:
THE LEVELER UNDER EACH SUPPORT LEG.




DORSEY WOVEN CAL KING BED
ASSEMBLY INSTRUCTIONS

APPENDIX A: ADJUSTABLE MATTRESS BASE ASSEMBLY SUPPLEMENT

FURNITURE

AN ADJUSTABLE MATTRESS BASE IS A FREESTANDING MATTRESS SUPPORT THAT SITS WITHIN

THE PERIMETER OF THE BED FRAME.

IF USING THIS BED FRAME WITH A STANDARD BOX SPRING OR FOUNDATION THESE INSTRUCTIONS DO NOT APPLY.
PRE-ASSEMBLED SIDE RAIL CLEATS OBSTRUCT ADJUSTABLE BASE INSTALLATION AND OPERATION.

FOLLOW THESE INSTRUCTIONS TO REMOVE THEM.

THE FOLLOWING PARTS ARE NOT REQUIRED FOR ADJUSTABLE MATTRESS BASE INSTALLATION:

D. SLAT ROLL 1SET 4.WOOD SCREW (4x30MM) 8PCS
E. CENTER SLAT SUPPORT 1PC 6. ALLEN BOLT (1/4x50MM) 12PCS

F. MATTRESS SPACER 2PCS "
G. SUPPORT LEG 4PCS 7. LOCK WASHER (5/16") 12PCS
8. FLAT WASHER (1/4") 12PCS

STEP 1:
USE ALLEN KEY (5) IN BOX #2 TO UNSCREW ALLEN BOLTS AND REMOVE PRE-ASSEMBLED SIDE RAIL CLEATS.

=)
NT

) P
V)72
)i
WZgbi7li2
Sl
S I3 5P
5/[”'1?’;%“. 5
= s
52857
S
i

g

NOTE: YOU MAY WISH TO RETAIN UNUSED PARTS IF IN THE FUTURE YOU INTEND TO USE THE BED FRAME WITH

A STANDARD BOX SPRING OR FOUNDATION
PAGE 8 OF 8




